



名前: _____

日にち: _____ スコア: _____

$$(-10)^2 + (-3) =$$

$$3^2 + 9 =$$

$$(-10)^{(-2)} + (-3) =$$

$$8^2 + (-1) =$$

$$(-10)^{(-2)} + (-1) =$$

$$4^2 - 9 =$$

$$(-1)^{(-1)} + (-10) =$$

$$10^{(-2)} + 3 =$$

$$(-10)^{(-2)} - 3 =$$

$$1^{(-1)} + (-4) =$$

$$6^{(-1)} + (-2) =$$

$$9 + 3 =$$

$$3^0 + 6 =$$

$$(-8)^2 + 2 =$$

$$7^{(-1)} - (-6) =$$

$$(-9)^2 - (-2) =$$

$$(-5) + 6 =$$

$$8^{(-1)} - (-5) =$$

$$1 + 6 =$$

$$(-5)^{(-1)} - 1 =$$



名前: _____

日にち: _____ スコア: _____

$$(-10)^2 + (-3) = 97$$

$$3^2 + 9 = 18$$

$$(-10)^{(-2)} + (-3) = \left(-\frac{299}{100}\right) = \left(-2\frac{99}{100}\right)$$

$$8^2 + (-1) = 63$$

$$(-10)^{(-2)} + (-1) = \left(-\frac{99}{100}\right)$$

$$4^2 - 9 = 7$$

$$(-1)^{(-1)} + (-10) = (-11)$$

$$10^{(-2)} + 3 = \frac{301}{100} = 3\frac{1}{100}$$

$$(-10)^{(-2)} - 3 = \left(-\frac{299}{100}\right) = \left(-2\frac{99}{100}\right)$$

$$1^{(-1)} + (-4) = (-3)$$

$$6^{(-1)} + (-2) = \left(-\frac{11}{6}\right) = \left(-1\frac{5}{6}\right)$$

$$9 + 3 = 12$$

$$3^0 + 6 = 7$$

$$(-8)^2 + 2 = 66$$

$$7^{(-1)} - (-6) = \frac{43}{7} = 6\frac{1}{7}$$

$$(-9)^2 - (-2) = 83$$

$$(-5) + 6 = 1$$

$$8^{(-1)} - (-5) = \frac{41}{8} = 5\frac{1}{8}$$

$$1 + 6 = 7$$

$$(-5)^{(-1)} - 1 = \left(-\frac{6}{5}\right) = \left(-1\frac{1}{5}\right)$$